@(1)0.53 (2) 0.37 @ (1) 0.503  (2) 0.307

® (1) 0.053 (2) 0.037 @ (1)53 (2) 3.7

® (1) 50.3 (2) 30.7
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44 333
() 1000 @) 1000

@ (1)4.4 (2)3.33 @ (1)4.40 (2)3.330
® (1)4.04 (2)3.33 @ (1)0.404 (2)0.333

(@)(1)0.044 (2)0.333

B

E£E27F1000 1 245 & AlAe] 2 s 5 syt
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1) — =0.044
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(2) 233 _ 0333

1000




2 %001 9 A2 27} 71 AL AL ofn AYY7A?
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@2 @1 ®8 ®9 G8YYrh
wrebA 0.01 9] #He] 271 7H 2o AL @ 19yt
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© M 201%80 @) 7%%%9 @ m 2061000 ) 7100()
C)(1)201000 (2)71000

(AA5)+(44) 2 B EF A4S B42 129 247}
Yt
63 63
1) 20.063 = 20 + 0.063 = 20 + —o— — 20—
(1) 20.063 = 20 +0.063 = 20 + 75 = 2075
602 602
(2) 7602 =7+0602=7+——r=17
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9. AW AL,

(1) 04-03 (2)0.7-0.6

@mo1@o01 @ 10102 @ (1)01(2)03
@ (1)0.7(2)02 ® (1)0.7(2) 0.3

(1) 0.4-0.3=0.1
(2) 0.7-0.6 = 0.1




10. Ha& HEA At AS A2Ae.

(1) 0.71+0.37  (2) 0.04 +0.25

@) 1.08 (2) 0.29 @ (1) 108 (2) 0.21
® (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21

(1) 0.71 + 0.37 = 1.08
(2) 0.04 +0.25 = 0.29




M

I
T T T T T T
Fa-—+t-l—t+—a-rt-1-
I [ Y A R N U A
[ T T T T R TR R
rI- - T~ ra- T
I N T Y TR TR R O Y
B
T T & 1 T
F4—-l—+—l— A4 - +—-I1—
I S I
[ I N T R T
FA-—T-o—ra-C T
| 1 1 | 1 | | 1 |

olx, a%a[ ]

A7l

L=
T

46 71

oleb 2, [ Jolzh gye

o
o
T
& ﬂmu
Bo o
o o
S
[en) [en)
© 0670
2|88|S
e @
R0

£ Oru
_
.
el
Bo  Bo
M~ O
5 3
(e} (e}
~ |90 |2
SHESNE
o @

,0.47, 9 A

47
100

®

.
(en)
mH
<}
“
o
o
S
o
" W
& T
A Az
= ok
€ A
G
Mg
o) =~
N
AR go
T .
oM
O_ M_
s Z
— 0




|-'O
=
i
2
L
4

=R R EENE

0ol ]
ol
0.0 ]
0.019] I:I

30,25+

M o

i

0
il
=

0
L
S

vV V
vV V
v
o vvyy
I

0
i
ot

et o )+ (0x0.1
A el RE i}gﬂqu ;20X2°£1>1; (5% 0.001)
0.2,5 4t




Tlo

< dol7h 7H 1 ARE AEdr V28 & A

w7

n
2 o

@ 0.005km © 5005 cm

© 55m ® 100.5cm

® @06 0eea0 Oeocae
® ©-0e0 6 660

in

B

1km = 1000m, 1 m = 0.001 km
1lm=100cm,1cm = 0.0l m

1km = 100000 cm, 1 cm = 0.00001 km
@ 0.005km = 5m

© 5005 cm = 50.05 m

© 55m

® 100.5cm = 1.005m
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15.

o ah A &

=
o

AN 7

1

— o] 159 & =0.1
Top 1 198 7 =015

0.03<[ ]<0.15

7124014, 7P A2 5 0.04

(F %9 )= 0.14+0.04 = 0.18




16. 0.01°] 311 =Hot 237 0.010] 36 T 22 4 F 2
FollA 7h 2 S0t 7p e 50 A5 A L.

> E:

> e 0.03

B

031 <[ |<0.36
7P 2 50 0.35,
7V Z2 41 0.32

5 49 211 0.35-0.32 = 0.03




17.

[ ]otel ggre 42 MR HES AL T2A S
11.92-384-279=] |-279=] ]

@ 8.16, 5.37 @ 8.16, 5.29 ® 8.08, 5.37

@8.08, 5.29 ® 8.06, 5.29

11.92 —3.84 - 2.79 = 8.08 — 2.79 = 5.29




18. A=F S st $Al= & 9A7IA 67.24mE SR Yehe=
58.84mE WRAFUTH F7F dry o He] d5=A] F5HA L.

@%XH, 8.4m @ et 84m ® <A, 86m
@ Y=, 8.6m ® <A, 74m

67.24 - 5884 =84 o]|P2 HA|7} 84m ¢ He| AF ]




19. Al 240 MAS SHA 2.

9.302 - 7.092 - 0.479

[ 2
> ®E: 1731

9.302 - 7.092 - 0479 = 2.21 — 0.479 = 1.731




20.

Azlol9] 7]= 1.514molal, §780]9] 7]+= 1.389 m YU ot @xlol=
F7olHt 2 m o 2] {5 L.

an

[
=

>
> HEHD 0.125m

1.514 — 1.389 = 0.125(m)




21. o= 250 WS vEA AT AL 2L,

(1) 43-354  (2) 7.16 —0.44

@ (1) 0.76 (2) 6.62 @) 0.76 (2) 6.72
® (1) 0.79 (2) 6.62 @ (1) 0.79 (2) 6.72

® (1) 0.79 (2) 6.82

(1) 4.3 -3.54 = 0.76
(2) 7.16 — 0.44 = 6.72




22. ARt AW EE 2 A0 7188 AL
@ 6.02-18 © 243+277  © 9.2-4.54
> g
>3E: ©

B

@ 6.02 - 1.8 = 4.22
© 2.43+2.77 =52
© 9.2 - 4.54 = 4.66
kA, A4 Bt g 2 A2 O°lt
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> & 2008
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@9 6°] YePHE =6 0|1

©9] 3°] HEtl= <= 0.03 Y4t
6 = 0.03 x 200 Yt}

Q2 ©9] 200 Y Yt.




25.

AR A} B AR A2 758 2 A

tlo

JIEAQ,

@ 2.68 +2.576 © 0.94 +4.17

® 6.213 - 1.865 ® 8-2111

® 0-6-66 @ 0-6-e-© ® 6-0-06

@e-cae 6 eoeo

~&B

@ 2.68 + 2.576 = 5.256

© 0.94+4.17=5.11

© 6.213 - 1.865 = 4.348

® 8-2.111 = 5.889
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26. S FlSE @ WA ARgSle] 71 RS S8 WEAL,

[6][o][7][5][s][]
-F

> Hehl 0.5678

HES G ALgstel B 4 gk Y A

N I g
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27.

19.6L &2 E59

Agatdy o8

ol

1817 a4,
=F

| 2
> &g 14.1L

|

B

1& — 700 mL

6300mL = 6.3L
A& =l A3l

=

—

o=}

=

98 - 700 x 9 = 6300( mL)

O] 9F: 6.3+ 7.8 =14.1(L)




28. 2004 Bk 33 201 Brk e &5 A 49 5 FolA 4 2
o} 71 A 0] FE FoHAL.

A

> E:

> Hehl 4.014

B ‘

2.004 <[ |<2.01

71 22 4= 2.005°0] 1L

7 2 552009022,

HS 2,005 + 2.009 = 4.014 °]t}.
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(11255
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[> Heh: 16

B

18,80

+ 4.03E o]z} ot

EEl 255
0+©®&=5-0=5
@+3=5-0=5-3=2
8+0=12->0=12-8=14
1+8+4=13-0=3
@=1+1=2

2,4,5,2,3°| 88, 2259 g2 16°]th




30. o3 ol g5 HoflA stu7tA = 1.46km , Shulof A
= 1570m, HHolA 2I7HA] = 2.1km JYTH

718l 2 km 1A F5HA 2.

1.46km _1570m. _-2.1km._
A sm we 23]

= km

1000m = 1 km
1570m = 1.57km
1.46 4+ 1.57 + 2.1 = 5.13(km)




28.998 < 28.900 < 2©.823 < 29.@12

cCh "
=

[ 2
> =g 27

~&B

28.998 < 28.900 14 @ =0 YUYt

© 2 gHt}t Aok stE =2 9T},

28.909 < 2©.823 oA © & s Kt} Aok 2 & 9y},
29.823 < 29.©12 oA @ & st} Aofst2 & gLt
£0=00=96=96=9

kA 04+ 9+9+9 =27dYrct
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Ape) 4

3°]5,00010°] 4<% FHRT} F 5 16— Hr} 22 45 A
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71 22 S5 15.005 4Yct.
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. 9,0, 6A M w7t AdsyH. 9% 02 &2 134, O ©

F2 174, A2 ©2] FL 156U Al 5 % 744 2 50 7158
A Q.

» &
> e ©

B

O+©=134,0+©®=174,0+©® =156
O+0)+(O©+E)+(O+©)
=(@+0+©)+(O+0+0©)
=134+174+15.6 = 46.4
OD+O+©=464+2=232
O=O@+0+0)-(O+®)=232-174=58
O=O+0+0®)-(O+®)=232-156="1.6
®=0O+0+0)-(@O+0)=232-134=98
wetA, 71 & = @l




